KEREBR(FH2FE)

a - HAE(E AEH AE & H

= ERRERE (me/L) KEHF BT BkIB R
21 [—REE 1001 /ml 0 0 0
22 | KGE TR =k (=4 =k
H3 |WFILARUZDIEEY 0.003 <0.0003 <0.0003 <0.0003
4 |KBRUZDIELEY 0.0005 <0.00005 <0.00005 <0.00005
H5 [ELORUVZDIEEY 0.01 <0.001 <0.001 <0.001
6 |SnRUZTDILEY 0.01 <0.001 <0.001 <0.001
27 |[ERRUZDILEY 0.01 0.002 0.001 <0.001
H8 |ANEvaLEEY 0.05 <0.002 <0.005 <0.002
B9 |HEMEER 0.04 <0.004 <0.004 <0.004
10 |71 A L RUTIBIES T 0.01 <0.001 <0.001 <0.001
E |EBREEZRRVEHEBREEZESR 10 5.4 2.2 0.6
12 |7vRRUZDILEY 0.8 0.14 0.08 0.05
H13 |RORRUZDIEEY 1.0 0.04 0.02 0.01
H14 |miEILRZFR 0.002 <0.0002 <0.0002 <0.0002
Hi15 [1, 4-OFFH 0.05 <0.001 <0.001 <0.001
16 | RARUVMSVR-1, 2-HO00TFLY 0.04 <0.002 <0.002 <0.002
17 [oyonray 0.02 <0.001 <0.001 <0.001
18 |[TrZHYOOTFLY 0.01 <0.001 <0.001 <0.001
19 |MJYOOTFLY 0.01 <0.001 <0.001 <0.001
20 [RoEY 0.01 <0.001 <0.001 <0.001
Hotl |I55EE 0.6 0.07 0.07 0.1
22 |/OOFEL 0.02 <0.002 <0.002 <0.002
#23 |yoakiLL 0.06 <0.001 0.001 0.007
24 |OoHOOEEE 0.03 <0.002 <0.002 0.004
Ho5 [TJOEyOOASY 0.1 <0.001 0.005 0.004
H26 |REER 0.01 <0.001 <0.001 <0.001
27 [#aR) O AR 0.1 <0.001 0.01 0.018
#28 |M)yOOFFEE 0.03 <0.002 <0.002 0.004
H29 ([JoEDH/O0O0ARY 0.03 <0.001 0.003 0.007
30 [JoERILL 0.09 <0.001 0.003 <0.001
#H31 |FRILLTZILTER 0.08 <0.001 <0.001 0.002
H32 |BEMBRUVZDIEEY 1.0 <0.005 <0.005 <0.005
H33 |[FILZZOLBRUVZFDIEEY 0.2 <0.01 <0.01 0.02
H34 B RUVZDIEEY 0.3 <0.01 <0.01 <0.01
H35 [FARVZDILEY 1.0 0.01 <0.005 <0.005
36 |[FRUYLRUFDILEY 200 17 16 5
H37 [RUAVRUVZEDIEEY 0.05 0.001 <0.001 <0.001
H38 |1\t 14> 200 19 12 15
39 |ALYYL, ¥ 2 LEGRERE) 300 135 98 71
HA0 |ZEZHIREY 500 256 190 130
Ha (2442 FREiEHEH 0.2 <0.02 <0.02 <0.02
Ha |CxARIY 0.00001 <0.000001 <0.000001 0.000001
a3 |2-AF LAVYRILAF—)L 0.00001 <0.000001 <0.000001 0.000001
Haa |JEAA 2 FmmiEHEH 0.02 <0.002 <0.002 <0.002
Has |z /—ILEE 0.005 <0.0005 <0.0005 <0.0005
a6 | B (LB RRTOC)DE) 3 <03 <03 0.8
47 |PHIE 58~86 7.2 7.2 7.6
Ha8 Bk BEThN EELGL 2EGL 2ELGL
Ha9 |BK BEEThHN EELGL BEGL EELGL
#H50 [BE 5 <05 1.6 <05
51 |/ BE 2 <0.1 0.3 <01




